Repeat / Prorata Registrations (Updated) January - June 2023 SLIIT ACADEMY

IMPORTANT

To register for the semester, students must complete the following two steps

Step 1: Make the necessary payment

Step 2: Submit payment receipt & duly filled online registration

form successfully <u>before</u> the registration deadline Online registration will only be activated from 25th January 2023.

Please visit

URI:

https://sam.sliitacademy.lk/course/view.php?id=526

Enrollment Key: **REPPROJANJUN@23**

If you have any issues relating to the registration you must contact student Affairs Division before the registration deadline.

Studentservices.sliitacademy@sliit.lk

Contact number: 011-7543715,011-7543606

ANY SUCH REQUEST COMING AFTER THE REGISTRATION DEADLINE WILL BE REJECTED.

25th January 2023-15th February 2023

** No registrations will be allowed after the above deadline

Payment of Fees

Academic Year / Semester	Repeat Fee	Finals Only**	Module Repeat Fee (formally known as Pro-Rata fee)	Completed Studentship (twice the period of the Academic Programme since first registration)
Year 1 / Semester 2 – IT (June Intake)	LKR 8,870.00	LKR 4,435.00	LKR 29,265.00	LKR 58,529.00
Year 1 / Semester 2 – BM (June Intake)	LKR 8,870.00	LKR 4,435.00	LKR 29,265.00	LKR 58,529.00
Year 1 / Semester 2 – EE (June Intake)	LKR 8,870.00	LKR 4,435.00	LKR 29,265.00	LKR 58,529.00
Year 2 / Semester 1 - IT (Regular Intake)	LKR 8,870.00	LKR 4,435.00	LKR 29,265.00	LKR 58,529.00
Year 2 / Semester 2 – IT (June Intake)	NA	NA	LKR 29,265.00	LKR 58,529.00

Year 2 / Semester 2 – BM (June Intake)	NA	NA	LKR 29,265.00	LKR 58,529.00
Foundation Programmes – IT Semester 2 (UoB /Curtin)	NA	NA	LKR 29,265.00	LKR 58,529.00
Foundation Programmes – EE Semester 2 (Curtin)	NA	NA	LKR 29,265.00	LKR 58,529.00
Foundation Programmes – IT Semester 1 (UoB /Curtin)	LKR 8,870.00	LKR 4,435.00	LKR 29,265.00	LKR 58,529.00
Foundation Programmes – EE Semester 1 (Curtin)	LKR 8,870.00	LKR 4,435.00	LKR 29,265.00	LKR 58,529.00
Foundation Programmes – BM Semester 1 (UoB)	LKR 8,870.00	LKR 4,435.00	LKR 29,265.00	LKR 58,529.00
Year 3 Semester 1 & Semester 2 - Prorata	NA	NA	LKR 29,265.00	LKR 58,529.00

^{**} When registering for "Final Exam Only" and requesting previous mid semester marks, the mark must be above 50% earned during the immediately preceding two(02) academic years and must check the mark at the same time of their registration for the particular exam.

The payments should be credited to either one of the following banks please:

Year 1 and Year 2

Bank of Ceylon Account No: 1630619

Sampath Bank Account No: 0134 1000 1688

Nations Trust Bank Account No: 100380005430

Hatton National Bank Account No: 701010012815

In favor of: SLIIT Academy (PVT) LTD

Branch: Bank of Ceylon Kollupitiya Branch located at the first floor of the BoC Merchant Tower Building or at any branch of the Bank of Ceylon.

Year 3

Bank of Ceylon Account No: 1630552

Branch: Bank of Ceylon Kollupitiya Branch located at the first floor of the BoC Merchant Tower Building or at any branch of the Bank of Ceylon.

Academic progression criteria for All Programmes

 According to the Student RuleBook, it is mandatory for the students to fulfil the following progression requirements.

Year 1 to Year 2 - Not more than 05 accumulated failed modules

Notes

- 1. "Failed modules" mentioned here includes both "repeat modules" and "incomplete modules".
- 2. This is applicable to all the programs unless otherwise specified.
- The Head of department at their discretion may decide to allow students to proceed to the next year ONLY under the condition that they may take a maximum of 3 modules (prorata or repeat intotal) in addition to the normal semester workload.
- Those who are not allowed to proceed to the next level will be eligible for a full refund and their registration will be cancelled (if already registered).

Academic Affairs

Division

25/01/2023